Atmiya institute of technology and Science for Diploma Studies

Subject code:- 3320002/03
Subject Name:- Advance Mathematics(Group-1/1II)
Branch:- Civil and Computer
Chap.2:- Function and Limit

Date:-31/01/2015

Section :
1. If f(x) = log(e”)
2. If f(z) = log(e®)
3 (F o f)a) =
LTE f(z) = ii
5. 1f flz) = 220

1 Questions for mark 1

, then f~1(z) =

311

6. If f(z) = cosz then f <7—x

SEMISTER - II
Question Bank-1

7. If f(x) =22, then f(z+1) — f(x — 1) =.....

8. If f(x) :ax—i-i and f (é)

x
x—1

9. If f(x) =

x
xr+1’

10. If f(z) =

zﬁ,thena: ......
)
fla)
(x # 1), then FatD
a
(x # —1), then f<b> =

iR

11. Find f~!(z) of following functions:
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(a) f(z)=22+5
(b) f(x) =Tz +2
6x 4+ 5
(©) fla) ="
(@ f@)=a?
(©) flx) = Vi
11—z
(0 J@) = 1
12, limfa] 77 =...
13, Find Lim 220 _

n—00 n



14.

15.

16.

17.

18.

19.

20.

21.

lim =......
x—0 x

hmx({“/ﬁ—l): ......

T—00

tanx

T—a Tr— a

Section : 2 Questions for mark 3

1.

10.

11.

If f(z) = 2241 and g(x) = #*~2 then find (f+g)(z), (f—g)(zx), (fg)(z),
fHx), g7 'x), (fog)z), (gof)(x), (fof N(x), (gof")(z).

If f(x)=log <L>, then show that f(a+ 1) + f(a) = log (a—i— 1).

r—1 a—1
a+ bx 1
If = h h . — =1
f(x) b an’ then prove that f(x)- f (x)
If f(z) = logax and g(z) = x® then prove that (f o g)(z) = 8f(z).
If f(x) =log (;—i), then prove that f (1 j_xe) =2f(x).
Evaluate: lim m.
z—0 1’2
ot — 822 + 16

Evaluate: li .
Ve S T — 322 4

22—t -1
2 —1

Find lim
z—1

3sinxr — sin3x

lim

x—0 1‘3
4 _ 3%

lim )

z—0 X

lim .

f
g)(x),



Section : 3 Questions for mark 4

(a) f(z)=/f""(x

(b) f(z)- f(=z) =1

(c) flz)+f(3)=0

(d) f(z) = f(3) =2f(x)

© 1 (125) =27
2. If f(z) = 4Zt35 and t = i;fi then show that x = f(t).
3. If f(z) = Lt then prove that x(f(z)) +1=0.

—x
— 2+/2
4. Evaluate: lim u—
r—2 €T — 2

5. Evaluate: lim M

0= p_ I
4
z log(l + x)

6. Evaluate: lim
z— 1 — cosx

5n+1 _ 7n+1
7. Evaluate: lm ——.
n—oo 9N 4 TN
(5+2n) =51 -2
h 257
12
0. Find lim - V1=
220 /1 — 2%(sin~1z)3

10. Give the example of lim(f(x) + g(z)) is exists but lim f(z) and lim f(x) are not exists.
T—a

T—ra r—ra

8. Prove that lim
h—0

; _
1t S0 5)

s~ 2cosx — 1 '

_ 3gin—}
19, lig 2= 38T
z—0 3x — Htan—1x



